
3D Pythagoras and Trigonometry
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1 A cuboid is pictured in the diagram below.

𝐸𝐻 = 4 cm

𝐺𝐻 = 3 cm

𝐶𝐺 = 12 cm

1(a) Find the length 𝐶𝐻

[2 marks]

Answer cm

1(b) Using your previous answer, find the length 𝐶𝐸.

Give your answer to 2 decimal places.

[2 marks]

Answer cm

Turn over ►

Not drawn 

accurately
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2 A cuboid is pictured in the diagram below.

𝐴𝐵 = 7 cm

𝐵𝐶 = 5 cm

𝐶𝑌 = 5 cm

𝑋 is the midpoint of 𝐴𝐸

𝑌 is the midpoint of 𝐶𝐺

2(a) Find the length 𝑋𝑌. 

Give your answer to 2 decimal places

[2 marks]

Answer cm

2(b) Using your answer to part a, find the length 𝐶𝑋.

Give your answer to 2 decimal places.

[1 mark]

Answer cm

Turn over ►

Not drawn 

accurately
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3 A square-based pyramid has the following properties.

Length DC = 12 cm

The vertical height = 10 cm

Point 𝑋 is the centre of the square base.

3(a) Find length 𝐴𝐸

Give your answer to 2 decimal places.

[2 marks]

Answer cm

3(b) Find the angle 𝐴𝐸𝐵

Give your answer to 2 decimal places.

[2 marks]

Answer

Turn over ►

4

Not drawn 

accurately
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4 The diagram below shows an isosceles triangular prism.

𝐴𝐶 = 8 cm

𝐴𝑛𝑔𝑙𝑒 𝐵𝐶𝐴 = 50°

𝐴𝑛𝑔𝑙𝑒 𝐹𝐶𝐸 = 40°

Find the length 𝐸𝐶.

Give your answer to 2 decimal places.

[3 marks]

Answer:

Turn over for next question

Turn over ►

Not drawn 

accurately
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5 The diagram shows a tetrahedron 

All faces are equilateral triangles with side length 2 m.

Point 𝑋 lies directly below point 𝐷.

Find the length 𝐷𝑋

Give your answer to 2 decimal places.

[3 marks]

Answer

Turn over for next question

Turn over ►

3

Not drawn 

accurately
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6 In the triangular prism below:

𝐴𝐶 = 7 cm

Angle 𝐵𝐶𝐴 = 75°

Angle 𝐹𝐶𝐸 = 35°

Calculate the volume of the prism.

Give your answer to 1 decimal place.

[4 marks]

Answer

Turn over for next question

Turn over ►

4

Not drawn 

accurately
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7 The diagram below shows a doorstop, modelled as a triangular prism.

Angle 𝐴𝐵𝐶 = 90°

Angle 𝐴𝐶𝐵 = 30°

𝐵𝐶 = 4 cm

𝐴𝐷 = 2𝐴𝐵

𝑋 is a point on the centre of the face 𝐴𝐷𝐹𝐶.

𝐴𝑋 =
𝑎 6

3

Find the value of 𝑎.

[5 marks]

Answer

End of Questions

END

5

Not drawn 

accurately
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